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Question: 1.

Extreme Networks “I” chipset switches allow you to run simultaneously the Radius and Tacacs+
features.

A. TRUE
B. FALSE

Answer: B

Question: 2.

In a stable OSPF network, all OSPF routers in the same area must have the same LSDB contents.

A. True
B. False

Answer: A

Question: 3.

The IS-IS Routing Protocol has been developed in ISO to provide routing for pure OSI environments.

A. True
B. False

Answer: A

Question: 4.

Which of the following is the default ESRP priority setting for an Extreme switch?

A. 0
B. 1
C. 254
D. 255

Answer: A

Question: 5.

A TCP type ACL that uses the permit-established keyword filters out SYN packets in one direction.

A. TRUE
B. FALSE
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Answer: A

Question: 6.

By default OSPF hello packets are sent out every:

A. 2 seconds.
B. 10 seconds.
C. 30 seconds.
D. 40 seconds.

Answer: B

Question: 7.

What is an IGP protocol other than OSPF that uses the Dijkstra’s SPF routing algorithm?

A. RIP
B. IS-IS
C. EIGRP
D. All of the above

Answer: B

Question: 8.

What does the abbreviation PIM stands for?

A. Protocol Implicit Multicast
B. Protocol Independent Multicast.
C. Port Independent Multicast
D. Port Implicit Multicast

Answer: B

Question: 9.

IP Version 6 has amongst other differences with IP version 4 also a different address length. What is
the size of an Ipv6 address?

A. 16 bits
B. 32 bits
C. 64 bits
D. 128 bits
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Answer: D

Question: 10.

An Ethernet Automatic Protection Switching (EAPS) domain relies on a control VLAN.
That control VLAN must be tagged with an 802.1Q tag.

A. TRUE
B. FALSE

Answer: A

Question: 11.

Select the statements that apply when you compare and differentiate VRRP and ESRP.

A. VRRP does not use the number of active ports as a criteria for Master election.
B. VRRP can be enabled on VLAN default.
C. VRRP and Spanning Tree can be enabled on the same switch and VLAN
D. All of the above

Answer: D

Question: 12.

The following MAC address, 00:00:5E:00:01:0A represents:

A. The MAC address used for ESRP, instance 01.
B. The MAC address used for ESRP, instance 10.
C. The MAC address used for VRRP, instance 01.
D. The MAC address used for VRRP, instance 10.

Answer: D

Question: 13.

The Skew time in VRRP is used to ensure that two back-up routers do not switch to master state at
the same time in case of a failover situation.

A. True
B. False

Answer: A

Question: 14.
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Within VRRP the election process of becoming the master switch takes place with the following
precedence:
Step 1: The switch with the virtual router’s IP address becomes the master switch.
Step 2: The switch with the highest VRRP priority becomes the master switch.
Step 3: The switch with the highest IP address becomes the master switch.

A. True
B. False

Answer: A

Question: 15.

When limit-learning is configured on a port and the limit is reached the following traffic still flows to
the port.

A. Packets destined for the active Mac addresses
B. Broadcast traffic
C. EDP traffic
D. All of the above

Answer: D
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